4.2 & 4.3 Mass
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Ex 1. Manuela needs 1 pound 2 ounces of Gruyere cheese, 12 ounces of cheddar cheese, and 11
ounces of Swiss cheese for a fondue recipe. How many pounds of cheese does she need in all?
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Try It!

1. Arecipe calls for 120 g flour, 170 g of cornmeal, and 50 g of sugar. If you double the recipe,
what is the total weight of the dry ingredients?



2. Rochelle gave birth to twin boys weighing 6 b 5 oz and 5 lb 14 oz. What was their total
weight?

3. What is the total weight of a loaded truck if the truck weighs 2.6 tonnes and it is loaded with
15 boxes that weigh 210 kilograms each? Give your answer in tonnes.

Ex 2. The cab of Authur's semi-trailer truck weighs 8.7 tons and the trailer weighs 6.4 tons. If the
loaded gross weight of the truck is 21.3 tons, what is the weight of the load?
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Ex 3. The cost of bananas is $0.49/lb at one store, but you see an advertisement for bananas on sale
at another store for $1.05/kg. Which is the better buy?
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Try it!
4. Chen weighs 68 kg. How much does he weigh in pounds?

5. A 12-ounce can of vegetables cost $1.49. A 1lb 2-0z can of the same vegetables costs $2.19.
Which is a better buy? Hint: find the unit rate.

6. Which is the better buy: 200 g of coffee beans at $3.85 or 1 pound at $9.60?



